Grade 3 QMT4-1
1 2 3
Calculate: Calculate: Calculate:
124 + 56 = 2x10 = 4x3=
59 + 95 = 4x10= 8x2-=
55 +11= 10x5-= 6x4-=
86 + 77 = 10 x10 = 7x5=
123 + 54 = 8 x10 = 9x 4=
69 + 212 = 10x6= 6x3-=
4 5
Give the place value Follow the

digit:

1. 451
2. 527
3. 352
4. 232

of the underlined

instructions:

1. Count from 85 to
200in 5’s

2. Count backwards in
10's from 400 to 230

3. Count forwards in
3’'s from 12 to 30

4. Count Back in 4's
from 64 To O.




Grade 3 QMT4-2

6 7
Rewrite the values in Follow the instructions:
rand or cents: 1. Count from 85 to 200
1.125is R.... and .....c in s

2. Count backwards in

2.549 isR.... and .....c 10's from 400 to 230

3.1346isR.... and ...c 3. Count forward in 3's
4.R10,30 iS wrvrorn from 12 to 30

4. Count backwards in
4's from 64to 0

6.12355isR.. and ....c 5 Count in 50's from 50
7. R100.60 in.........C to 250

5.R5,24 is ... C

Count the money.




Grade 3 WWT4-1

1. Circle the correct answer

1.1. The number sentence for the following is: At the bazaar at
Sarah’s stall, children must catch piglets. She needs to make
R150. If each child pays R5 a turn, how many children must try to
catch a piglet?

a) R150 x R5 = b) R150 + R5 = c)R150 =5 =
1.2. The correct answer for 1.1is:
a) 60 children b) 1500 children c) 305 children

1.3. If all the children that tried out for the ‘piglet catch’ are put
into groups of 5 to participate in the spoon race, how many
groups will there be?

a) 300 groups b) 12 groups c) 61 groups

1.4. There is a water slide at the bazaar. Four children can slide
down at the same time, how many children will slide after 16
times?

1.4.1 Choose the correct number sentence:

a)16 X 4= b) 16 + 4 = c)16+ 4=
1.4.2 The correct answer for 1.4.1 is:

a) 4 children

b) 20 children

c) 64 children



Grade 3 MWT4-2

2. Circle the correct answer

2.1. Four children can slide down together. If the cost is R2 per
slide, how much money did the bazaar make for 16 slides?

a) R40 b) R8 c) R128

2.2. A bowl of dessert costs R10. There are 70 bowls of dessert.
If every bowl is sold, how much did the dessert table make?

2.2.1 Choose the correct number sentence:

a) R10 x 70 = b) 70 - R10 = c) R10 + 70 =

2.2.2 What was the total made at the dessert table?

a) R700 b) R80 c) R7

2.3. If they received a donation of R155, how much did the
dessert table make in total?

a) R855 b) R235 c) R162

2.4. The dessert table’s target was R900. Did they reach their
target? What was the difference?



Grade 3 MWT4-3

1. Sarah has three children. Her eldest daughter is 15 years old,
and Sarah gave her R25, her son is 10 years old, and she gave
him R21, and her youngest daughter is 8 years old, and she
received R16.

1.1 Write down the number sentence for the combined ages of
Sarah’s children.

1.2 Calculate the combined ages of Sarah’s children.

1.3 Write down the number sentence for the total amount of
money that Sarah gave her children.

1.4 Calculate the total amount of money that Sarah gave her
children.

2. Here is a list of items sold at the bazaar:
curry and rice @ R20, dessert @ R10, big cakes @ R30
vetkoek and mince @ R12, pancakes @ R6, boerewors rolls @ R15

2.1 Sarah buys 5 dishes of curry and rice and 2 big cakes. How
much does it cost?

2.2 Sarah'’s family are coming to visit, and she decides to buy
vetkoek and mince for supper. Sarah, her husband, and her 3
children and another 5 family members will be there for supper.
How many vetkoek and mince must Sarah buy?

2.3 How much will Sarah pay for the supper?

2.4 Sarah’s family leaves at 06:15 from their home and will arrive
at approximately 15:20 at Sarah’s home. How long was their
journey?

5



Grade 3 MWT4-4

1. Roelf, Sarah’s husband, helped to raise the tent at the bazaar.
He was paid R14 per hour and it took them 9 hours to raise the
tent. How much money was Roelf paid?

2. Roelf wants to share some of his wages with his 3 children. If
he is paid R900 and he wants to give his children a third of this,
how much will he have left?

3. Each child buys one of each item at the bazaar. How much did
each of them spend?

4. What was the total amount of all three children’s spending?

9. Do they have enough money to pay for everything that they
had bought from the money their father had given them?



Grade 3 MQT4-1

1. There was a maths competition at the bazaar. Sarah’s
youngest daughter came second in the competition. In the
competition, she had to count in 7’s from 0 to 49. Indicate where
she made her mistake and correct it: 0; 7; 14; 21; 28, 35; 40; 49

2. The eldest daughter came third in the competition with this
addition sum. Identify where she made her mistake and correct
it:

382 +427=T19

300 + 400 =700

80+20 =100

2+7=9

700+100+9 = 7H +1T +90= 719

3. Sarah’s son came second in the competition with this
multiplication sum. Identify where he made his mistake and
correct it:

145X 5 = 625
100 X 5 = 500

40 X5=100
5X5=25

500 + 100 + 25 = 625

4. If your group was at the bazaar, find out in what position you
would each finish by doing the following maths quiz:

a) Write the first 6 multiples of 4;  b) Add 236 and 594
c) Multiply 638 by 4
d) Bonus point: Divide 636 by 6



Grade 3 MQT4-2

1. Describe the views of the water slides:

2. Draw the following:
2.1 the top view of 1.1
2.2 the bottom view of 1.2

2.3 the side view of 1.3



Grade 3

WQT4-3

1. Sarah’s town is planning a bazaar. They started the planning

on the 7" of January.

January

1

2 3 4 5 6 7 8

9
16
23
30

3

10
17
24

1.1 What day is the 7" of January?

10
17
24
31

4
1
18
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11 12 13
18 19 20
25 26 27

April

5 6 7
12 13 14
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26 27 28
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29
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2021
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1.2 In which year did the planning begin?

1.3 The second meeting was 15 days later. What is the date of
that meeting?

2. The plan is that the bazaar will be held on the 16" of June 2021.
How many months, weeks, and days from the first meeting, the
7" of January 2021, to the 16" of June 2021?

3. On which day will the bazaar begin in 2022?

4. Each of the 6 food stalls receives a float of R85. What is the
total amount of money for all 6 food stalls?



Grade 3 MWT4-4

1. Circle the correct answer:

1.1. 2 litres are the same as:

a) 200ml b) 20ml c) 2.000ml
1.2. 800ml is the same as:

a) 8 litres b) 0,8 litres c) 0,08 litres

1.3. 600 ml + 900 ml + 2 litres = .......cccccoeee.

a) 3 500 litres b) 1500ml c) 3500ml

2. Write the volume in millilitres for the 4 containers below:
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Grade 3 MWT4-5

1. Answer the following questions:

1.1 What is the capacity of the container?
1.2 What is the volume of the container?

2. Write down the capacity of each of the Coke containers.

23 Fo
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